Connections and Rates.notebook November 23, 2018

A Ferris wheel of diameter 8 metres arrives at the local fair. A ramp is
built in order to get onto the ride. The ramp is 1.25 metres tall, graph
the ride that a single rider takes if one rotation is approximately 24
seconds.

a) Graph at least one rotation of the Ferris wheel w.r.t height v. time.
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Trig Functions and Rates of Change

The average rate of change is zero on any interval where the
values of the function are the same

Rate of change is 0!
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The absolute values of the A.R.O.C. on the intervals between
the max and the min and the min and the max are the same

Absolute value of average rate of change
is the samel
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Characteristics of Instantaneous
Rates of Change and Trig Functions
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The population of wombats, w, in a certain area can be modelled by the

function w(t) = 300 + 50sinTrt where t represents the time, in years.

a)Sketch a graph of this function. @ i N (/IT“ (é’ +0O >> + 3 OO
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b)When is the wombat population growiné the fastest?

Ev@ff Q/VQV\ yﬁq{ (6)(/ 0/2)9/*">

c)When is the wombat population decreasing the fastest?

E\/e/?/ OJOK year (W /) 3/ 5/ />

d)When is the instantaneous rate of change 07?

Every hall year (ep 05,16 25)

e)What is the average rate of change from Year 1 to Year 5?
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The following table shows the average daily temperature for North

Bay, Ontario.
Month Temperature(C)
a) Write a sine function to model the data. = g
b) Make a scatter plot of the data and graph % ;‘233
your model on the same plot. Sore o
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